Section—C 2x12=24
(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit
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your each answer maximum up to 500 words.

Each question carries 12 marks.
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Compare the Asian agglomeration and European
agglomeration and explain their characteristics.

TR SHEE qen JATeE SHEEE H1 gad &d gU
Tt oo Sarsy |

Explain the factors affecting migration of
Population.

SHEEAT YAET 1 JIfad A 9ol ekl hl THHART |
What is the meaning of environment adjustment ?
Discuss the regional aspects of environment
adjustment.
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Explain the difference between determinism and
possibilism. Mention the views of two major
supporters of each school of thought.
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Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given

instructions.
T .- o8 gvA-u= ‘e, ‘e BiR ‘e d wvel | fawifsa ®)
YIF WIS & RIMTIR U+ & IW aIfST |

Section-A 7x1=7
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each
question carries 1 mark.
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1. (1) Define Human Geography.
HEa el sl qRIfoa i |
(11)) Write any two German geographers’ name.
for=dt & A spieremsdt & AW fafe |
(ii1l) Write the meaning of ‘Ecology’.
‘aiifeafaent’ 1 A1 fafe|

(iv) Define Determinism.

egar &1 gRwifa sifsT
(v) What is ‘Igloo’ ?

‘T T ?
(vi) What is Migration ?

TIE T ?

(vil) What do you mean by ‘Location’ ?
‘erafegfa’ § 9 F AR § ?
Section-B 4x6=24
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 6 marks.
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2. Explain the scope of Human Geography.
HHE il % fao@-&5 i =aren St
3. Explain the contribution of Humbolt in
development of Human Geography.

AFd e & foeE # gEiee % ANRH Wl T
RIS |

4. Describe Mediterranean Agriculture.
A AR H 1 qUE BT |

5. Explain the population theory of Malthus.
qegqd & SHEE A &t A Sifsu |

6. Describe in detail the factors influencing the origin
and development of human species.

HHa YSfaal & 3g9a 9 T i gwifad & Al
HRHT w1 TR | o Hifew|

7. Write a note on rural settlements of desert region
of Rajasthan.

TR & HEEA U & uTHvr stfeemE W fewoft
fafem |
8. What are the positive effects of urbanization ?

TR0 & FhNIcqeh IOmHT § 37T &= 993 © 2

9. Mention the effects of geographical environment
on the life of Eskimos.

Tfewtl & Sied W Aifeiss e & Y96l & oo™
eI

GE-05/4 (3) TC-857 TurnoOver




